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Question Number : 1 Question Id : 3354729031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

From a geological viewpoint, which is the oldest terrain of Madhya Pradesh? | U@ o=l EHIT &, Heand @1
e qETAT 4T 1 AT

Options:
1. ¢ Gondwana Land | Tii=am=T i

= % Deccan Flateau | ZiE0 uam

3. % Bundelkhand region | doars &9
4 % Eastern terrain | el gETT

Question Number : 2 Question Id : 3354729032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Madhya Pradesh State Industrial Development Corporation was founded in
TeT TR 2

Options:
1. % 1966

2. ¥ 1965
3. % 1980
4. % 1972

Question Number : 3 Question Id : 3354729033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where i5 the Indira Gandhi National Forest Academy - a training institution for officers of the Indian Forest

Service located? | Eiexr et T 9 SITEHT - WA T o ST & STt oF T U widenT seem wET e 2
Options:
1. % Mussoorie | T

2. ¥ Dehradun | g0
2. ® Coimbatore | FRIEE
4. % Burnihat | @91z

Question Number : 4 Question Id : 3354729034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How many chapters or sections are there in the Bhagavad Gita? | ¥ag a1 # fFa e a7 g2 57

Options:
1. % 12
2 % 14
3 % 18
4 ¥ 18

Question Number : 5 Question Id : 3354729035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Where exactly i5 the ancient town of Bagh? | =0T &7 Wi S5¢ aredd § 51 27

Options:
1. ® Near Gwalior | TTeET & 0T
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2. % Near Indore | £21 & U
Z. % Near Ehopal | AT & 0T
4, % PNear Ujjain | 3= & 909

Question Number : 6 Question Id : 3354729036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
‘Global Farrily Day’ is celebrated on

Options:

1. % 1st January | 1 el

2. % 15th January | 15 =i
% % 2Gth January| 25 J9der
4. % Gth January| & =gl

Question Number : 7 Question Id : 3354729037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhich cormrmunity has sought refuge in India after fleeing widespread persecutions in Myanmar? | ﬁ?ﬁﬂ'ﬂﬂ]ﬂﬁ

AR § 72 T 0T Iaiie & 9T 3 &7 9 & SR ;e
Options:

1. ¢ Rohingyas | Tg=T

2. % Hutus | e

3. % Fulas | o™

4. % [ljos | S

Question Number : 8 Question Id : 3354729038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwho is the first and only Indian to compete in six Olympic Games? | F5 AANE Sl § Tidena] #- aTe uga 2
AT A 1 & 57

Options:
1. % pT. Usha | 9T & 3mT

2 % Leander Paes | &=t o9

% % Saina Nehwal | GEAT S5dTA
4. % Milkha Singh | Tear #&g

Question Number : 9 Question Id : 3354729039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which year was Indian National Army (MNa&) founded? | TG TP ST (ATETAT) HT T o o | g2 o2

Options:

1. ¥ 1857
Z % 1900
3. ¥ 1942

4. % 1948

Question Number : 10 Question Id : 3354729040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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which of the following is the largest fort in India? | T & & F9 97 97T @7 G009 927 ToFaT 27
Options:

1. % Chittorgarh Fort | TRIETS TFaT

2 % Golkonda Fort | MagraT foar

3. % Apra Fort | 3T ToreT

4 % aouada Fort [ SA[RTET T

Question Number : 11 Question Id : 3354729041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Vishal Sikka was in the news recently as he: | Haa Mg s ol # 9= 7 4, F4iF 351

Options:

1. % resigned from the post of CEO & MD of Infosys | S-BITad & dge T TS & U & ged 7 & 327
2. % resigned as vice chairman of NITI Avog | F1id T & FuTey & =7 # 560 (%7 o T

= % joined WIPRO as MD and CEQ | TAST 3 disat & =0 # T & amfia g1y

4 % took over as Chairman of Tata Group | TR HHE & Ty & &1 § UgWT F9TAT

Question Number : 12 Question Id : 3354729042 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who among the following is NOT a recipient of the Bharatiya Jnanpith Award? | FEeiET 8§ € 19 4rd = Sie
RERT WHRAT 51 &7

Options:

1. ¢ Suryakanth Tripathi Nirala | T®id FHEET 7T

2 % G Shankara Kurup | S 3@ 20

3. % Ashapoorna Devi | STamgor gt

4 ® K Shivram Karanth | & T&aem s

Question Number : 13 Question Id : 3354729043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The most important river island in Madhya Pradesh is: | Ao 02a o e Tgeayol 951 &7 &

Options:

1. # Kalbhairava | Fead

2 ¥ Crrkareshwar | STRICSEY
= % Wainganga | AT

4. % Nauradehi | TR

Question Number : 14 Question Id : 3354729044 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following cities is known as “City of Lakes” in Madhya Pradesh? | fafeias & & e nae &7 #19
AT 5T, "l & gL o H AT S g

Options:

1. ® Khajuraho | @RE!
2. ¥ Bhopal | {07

3. #® Indore | 21

4. % Ujjain | =4
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Question Number : 15 Question Id : 3354729045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is Karvala in Shivpuri? | feaqor & samsr Far g2

Options:

1. % Eco tourism centre | iR Wied dhg
2. % archaeclogical centre | QEATca® &g
Z. % Rock paintings | T8 B

4. % Muslik Art ceritre | e AT €T

Question Number : 16 Question Id : 3354729046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Name tn%1 farmous fort which is also known as Eadal Mahal. | 39 UTg e &7 A0 T80 M JTed Hed & 9 o «f
AT ST

Options:

1. % Rahatgarh Fort | TT5a718 TepaT
2. % Sanodha Fort | 941671 foear

= % Raheli Fort | Tgal T

4 % Karrapur Fort | Qe e

Question Number : 17 Question Id : 3354729047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Earahsingha, the state animal of Madhya Pradesh, is found in the _____ | AN T T 04, ARG, _____ iy
UTET ~Td T

Options:

1. % Pench MNational Park | e Tgier F2m4

2. ¥ Kanha National Park | F5T TE R 3209

3. ® Ken wildlife Sanctuary | & gl SHaRTT

4. % Bandhavgarh National Park | =TeEmg T8 324

Question Number : 18 Question Id : 3354729048 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Comptroller and Auditor General of India (CAG) is appointed by the | ¥Rg & a3 v AgmET wiiges (@)
T Gk G W T =11 &

Options:

1. % President | TTedf

2. % Prime Minister | WA

% % Lok Sabha | #f@edr

4 % Suprerme Court | GHH ®1

Question Number : 19 Question Id : 3354729049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The famous Shakti Peeth in Datia is at .| ST H aig aRe e T 21

Options:
1.+ Pitambara | TR
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2 % Neelamhbara | iaTET
3. % Shewatambara | sdTer
4 % Sheetambara | SiaTew

Question Number : 20 Question Id : 3354729050 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Ta;h; founder of Chanderi, Raja Kirtipal, belonged to the _____ Dryriasty. | Tidll & S, T S aad _____ ECE

Options:

1. # Chandel | =&
2. ¥ Pratihar | WHEE
3. % Lodhi | @l

4. % Khilji | TEe=T

Zeneral Maths and General Aptitude

Section Id : 335472314

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472314
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354729051 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The difference in the ages of a father and son is 24 years now. [f 5 vears ago father's age was 3 times the age

of son, then what is the son’'s age now? | T0aT 3T gF & # andt 24 o F7 ey 81 915 S 99 unet fUaT & AT
T &I T 3 TAT o, T it = T ey e 2 we B

Options:
1.9 17
Z % 18
3 % 19
4. % 20

Question Number : 22 Question Id : 3354729052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

10th Jan 2018



10th Jan 2018

If 3x* — 122 + 18 = 0, then (x? — 21 is equal to T 3xt - 12x2 + 18 =0.4r (2 -2)
& e ¢l

Options:
1. %8
i
3 %2
4. % 10

Question Number : 23 Question Id : 3354729053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The value of 95 x 3% x 273is: / 95 x 37* x 273 T HIT b:

Options:

123313

15
2 :

3533;

4 R 311

Question Number : 24 Question Id : 3354729054 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

9%/2x 81%/4 i 9%/2x 81°/s "
f———— =3 :thenthevaluenfxis:f'ﬂﬁ—zg = 3%, @l x &7 AT
27 13

2?2-;3
&
Options:
1.¥32
> %2
3% 4
4. % 1

Question Number : 25 Question Id : 3354729055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How many litres of water will a vessel of length 20 cm, breadth 15 cm, and height 10 cm contain? [ 20 ot

AR, 15 GHT e, ot 10 ST FTE @ UE ad T FIeT U T FTEEE BT
Options:
1. % 3 litres | 3 dfex
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= % 4litres [ 4 #wT
2. % Slitres | 5 #ieT
4 % 1 litre | 1 #ieT

Question Number : 26 Question Id : 3354729056 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
(2x+103x+4+H(1-2xZx+4) =7
Options:

1. % gu-8

2 ¥ Ex+3

3% By

4 % 5-6x

Question Number : 27 Question Id : 3354729057 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the square of 0.57 | 0.5 &7 7 FA7 57

Options:
1. %25
2. % 0025
3% 25
4 ¥ 025

Question Number : 28 Question Id : 3354729058 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Find the average. | 9a FHETiam

15, 56, 43, 26, 32
Options:
1. % 323
2. % 34
3. ¥ 35
4. % 36

Question Number : 29 Question Id : 3354729059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Teacher asks each student in her class to draw a rectangle with integer side lengths and a perimeter of S0 cm.
All the students calculate the area of the rectangle they draw. What is the difference between the largest and
smallest possible areas of the rectangles? | Taear 7 s wym # uedw Eemdf @1 qurie =7 @t oK S0 J0t & giom
& U 3TTT T I3 F & e adT  TE BT AT AT o A Gl UM i ST o HEaH S ogad

Options:
1.9 132

2. % 128
3% 120
4 % 76
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Question Number : 30 Question Id : 3354729060 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& boy goes to school with a speed of 2 krmfh and returns with a speed of 2 krmfh. If he takes 2 hours and 30
rminutes to 2o to school and returr, then what 15 the distance between his school and home? | T ASwT P

ﬁﬁﬁrmﬂfﬁ‘rﬂﬁﬁﬁamqm%aﬂvsﬁﬁr T A T AT AT 21 i o e A o g e i 2 5 8 30
e AT 8, @1 I8 Toeimera o wT o ffer & gil Tt g7

Options:

1. % gk | 6 ToT
2. % Skm |5 o
3 % 4km | 4 T
4 ¥ Ikm | 3 o

Question Number : 31 Question Id : 3354729061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the minimum number of straight lines required to make the given figure. / 6T 10 =7
&1 Geflel & folT 3aeas Wl Y@ni &1 gaan Jear Ad #1

EIS

Options:
1. % 18
2. ¥ 17
3. % 18
4 % 19

Question Number : 32 Question Id : 3354729062 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A train 00 metres long passes a pole in 45 seconds. The tirme taken by the train to Cross a 700 metre 1orn

bridge is____. | QEFSDD AT (TS U TP 1 45 S0 H U/ @0d | 5] (el gRT 700 Hiet de Ja & 0% & | &

Options:

1. # 1 min 45 sec | 1 AT 45 31z
2. % 2min [ 2 FeT

% % 2min 15 sec | 2 AT 15 @9
4. % 2 min 30 sec | 2 T 30 A9

Question Number : 33 Question Id : 3354729063 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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The difference between a nurnber of two-digit and the nurmber obtained by interchanging its digits is 63, What
is the difference between its digits? | 31 87T T GE2T o I STehT 3 TeI =A< &0 W g FT AT 63 7 IaF
SRt o Sl F T ST 57

Options:
1. %5
2. %5
R A
4 % g

Question Number : 34 Question Id : 3354729064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Shyarma prepares the model of a shopping complex using cardboard, in 4 days, working & hours per day at a
stretch. But if she decides to finish it in 2 days, then how many more hours per day should she work? | S3mHT

ﬂ%mww T aa | Ui A o5 O @ @, 4 o731 | U AT SI0eEE BT HideT da) wead | gl ﬁﬁrﬁraﬁfﬁgsﬁ
3 ot f wome Teperr @t 2, ﬁﬁﬁﬁ?ﬁﬁﬁﬁt&ﬁ]ﬁﬁﬂ%ﬂfﬁmaﬁw

Options:

1. 2hours | 2 @&
2. % 4hours | 498
% % Ghours | 6T

4 ® Shours | 3O

Question Number : 35 Question Id : 3354729065 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
If 10% of % is equal to 20% of ¥, then sy is equal to: [ Tz FT10%, v F 20% F aT6T &, T v THE avlal o

Options:

1.% 1:2
2wz 1
=% 1:5
4 % 3:1

Question Number : 36 Question Id : 3354729066 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following prime nurmbers while dividing 2176 leaves 9 as a remainder? | Fg 8 & o199t srra
T 2176 W1 ST Fd a0 4 9 FiEd T 27

Options:
1. % 17

2. 0% 29
3% 167
4 & 197

Question Number : 37 Question Id : 3354729067 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
1£3%7 = 243 then what is the value of x? / A& 3*? =243 @ x &I &Il &l
87
Options:
10th Jan 2018
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1. %2
2. ¥ 3
3% 4
4 ® g

Question Number : 38 Question Id : 3354729068 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The HCF. of 384, 432, and 1200is: | 384, 432, U 1200 &1 H5aH GRS &

Options:
1. % 28
2 % 24
3. ¥ 48
4. % B4

Question Number : 39 Question Id : 3354729069 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
198 * 198 + 2012+ 2 * 198 * 201 =7

Options:
1. % 145301

2. % 125901
3. ¥ 159201

4. % None of the above | I § & F1E 51

Question Number : 40 Question Id : 3354729070 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Three persons, &, B and O invested BEs. 2000, BEs. 5000 and Es. 7000, respactively, to Start a business. At the

ennd of the vear the profit is Bs. 100000, out of which 25% ga’_es for charity. By how much is BE's share greater
than &'s share? | &1 =Rt &, B 3K C 3 UF 10K ST 9 F & 1210, F09: 3000 299, 5000 703 % 7000 203 forar
TFaN = 3 afg #f AT 100000 =02 51T 2, T 25% a:r%ﬁ%rqqﬁrr% B o7 e, A ¥ el & gt s 27

Options:
1. ¥ Rs. 20000 | 20000 #03

o % Rs 10000 [ 10000 50
Z. ® Rs 5000 [ SO00 T
4 % None of the above | 3Ug® § & ®1 21

General Hindi

Section Id : 335472315
Section Number : 3

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20

Section Marks: 20
Display Number Panel: Yes
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Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472315
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354729071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT, Faw, Terdmor affe T ____ AR R

Options:

1. & arferme
2 ® T
3% dgd

4. % goaw

Question Number : 42 Question Id : 3354729072 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT STeg, AU % G UG gl Toral H M7 8, o FEAT 52—
Options:

1. % Toan

2 ¥ dga

3 % o

4. % T

Question Number : 43 Question Id : 3354729073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
S e, T -
Options:

1. % &&

2. & T

3. % =g
4. ® ZrAT

Question Number : 44 Question Id : 3354729074 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T @7 a7f -

Options:

1% o

2 % TR

3. ¥ TR AT

4. % w7

Question Number : 45 Question Id : 3354729075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
STAT-TAT STeg, TEIEe B-
Options:
1. Fawefer el
o % TufiaelE qm
3 % ardwrll g
4 % wriggqm

Question Number : 46 Question Id : 3354729076 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT FT uiaEt g § W |

Options:

1. o wauf
2. % g
3 % e
4 % et

Question Number : 47 Question Id : 3354729077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

R T R S ¥R s P A v A
Options:

1. % g

o % fhemEm

3 ¥ TR

4. % g

Question Number : 48 Question Id : 3354729078 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘T T A edg P A G @A AT g
Options:

1.9 staq

= ® ag+ar

3. % WE+HaE

4. % amtad

Question Number : 49 Question Id : 3354729079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AiEwr @ TAT Teg HE H d BT AT e
Options:

1. % gdtaw

o ¥ wEw

3. % gigpd

4 % wligd
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Question Number : 50 Question Id : 3354729080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘T IUET F AT e ME H W R 57
Options:

1. ® gaieq

2. ¥V FEaawm
3. ® goieg
4 ® g

Question Number : 51 Question Id : 3354729081 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘AR AR Seg H T H F & |1 A 77
Options:

1. % Joqey 9Hg

2 % TmremnE

3. FHUT 90

4. % ity gug

Question Number : 52 Question Id : 3354729082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

OF U grrat wTenf Fe A e wm Ay
Options:

1. % gaemr

o % fg yferer & g

3 afSE BT

4 % Zor

Question Number : 53 Question Id : 3354729083 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ST W g T F W H E A7e?
Options:

1. ¥ HET

2 % wf

2 % Hiiiied

4 % wiiF

Question Number : 54 Question Id : 3354729084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

aa . - ETy I
Hdﬁﬁﬁﬁﬁﬁ?ﬁ?ﬂ%
Options:

1. % gedEra v

o % e v
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2 o dReg T
4 ® qIqw o

Question Number : 55 Question Id : 3354729085 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
g%ﬁaﬁggmmﬂw% ﬂﬁrﬂg—w
Options:

1. & SUTE STFFER

2, % 2T AAw

3. ¥ JUAT STAEW

4. % FUF AT

Question Number : 56 Question Id : 3354729086 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
T M7 =g & T AT HiaaT T aTe gl @ Ui ®m g - 5
Options:

1. % mga, T, O, Sk

2. I, GO, GO, gL
3. % 29 W TSI, WHER

4 % A, T, WG, SR

Question Number : 57 Question Id : 3354729087 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e ard § ok w0 &1 fd ST geren | #i -
T G 5IE e, 91 SI0ET e w3 e

Options:

1. % s o g oy oy e

2 ® g@m gl dell Fag - 9 a9

3. ¥ U Ol U ST BT Fen il AR
4. ® TopeAg w1 04T

Question Number : 58 Question Id : 3354729088 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
e o o St # e A geg e g -

Options:

1. % ggr-foram
2. % -t
3. ¥ TMle-amT
4. ® E-9T

Question Number : 59 Question Id : 3354729089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T # T T o U T 1 Seg-rE AT § -
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Options:

1. ¢ Tg-9g

2. ® gag-ame

3 % Te-TE

4 & F-I

Question Number : 60 Question Id : 3354729090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT ¥ foFa A2 519 &7

Options:

1. % 2

= ¥i

3. % 10

4. ® 12

Fural Econorry and Panchavati Eaj

Section Id : 335472316
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472316
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354729091 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who appoints the Secretary of the Gram Panchayat? | TTH U=a & G o fHghe B g & St 27

Options:
1. # Gram Sabha | WH |47
2. % Gram Panchavyat | 70 T=aa

3. % State Government | 1= GYEN

4. % Elock Panchavat | =dTe U= (477 U=ad)

Question Number : 62 Question Id : 3354729092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Marme the dairy in Harda district of Madhva Pradesh that is involved in training and rmlk procurernent in large

scale? | Hed UG & gial M H eI 36 SO ol T8 sy, ST a2 SuT 0T Widiaor ger grer Wi o &5 # BT el g7
Options:
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1. % Saujany [ -7
2. % Sahakar | 9EFW

= ¢ Sahavog | 9gAM
4. % Sahaj | @

Question Number : 63 Question Id : 3354729093 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where is Bankers Institute of Rural Development (BIRD) located? | €@ seeiog ATk & sdadde (BIRD) ®gT e
27

Options:

1. % Lucknow | 7845

2. % Indore | 2T

Z. % Bangalore | sART

4 % pune | qur

Question Number : 64 Question Id : 3354729094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Pradhan MElII'ltI'i Cram Sadal Yojana ‘.-'-.?ElS introduced in 2000 by then Prime Minister_ . f ‘Ff%l'l:m‘_:ﬁ'm LaR=1
AT BT ST & 2000 | 390 0 & He=uat ______ FIREEIRIE 1)
Options:

1. ¥ Manmochan Singh | AAAET &5
2. % LK. Gujral | SIMg & T
% % Deve Gowda [ 2amiST

4. ¥ Atal Behari Vajpayee | 372 Tegnl araus

Question Number : 65 Question Id : 3354729095 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the regulatory systerm adopted in PKVY to promote organic farming called? | e ST & Weamg- & o
PEVY | AT ATeAT %TI'ITI?E nvﬂ?rllTj T TEATHT 57

Options:

1. # Participatory Guarantee Systerrl (PGS Certification) | T ezl Te! TEeeH (PGS Al o)
2 % Crganic Farming Group Systern | Si-e SIET o ey

3. ® Participatory Group Systern Certification | TTe e J0 ey i e

4. % Organic Participatory Systern | - O ez eew

Question Number : 66 Question Id : 3354729096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which day has been declared as ‘Balika Diwas’ (Girl Day) by the Ministry of Women and Children
Development? | HiEaT Ua aTe e AT ST o5 1o @1 aTieidT Toae T fera 1= 27

Options:

1. % April 5, every year | Tedd af 5 Ml

2 ® July 9, every year | Ueded oy 9 TS

3. % October 4, every year | Wodd a4 9 aEgEt

4. % January 24th, every vear | Uodd a8 9 Tad=w
Note: For thisquestion, discrepancy isfound in question/answer . So,this question isignored for all candidates.
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Question Number : 67 Question Id : 3354729097 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a technique in Organic Farming? | TfeiET 8 @ sar afee ot & 0@ a@-i@ 951 87

Options:

1. ® Crop rotation | ® Tad

2. % Green manure composting | W A= wAiEsT

3. % Use of chermnical fertilizers | Ew WieATSA ®T JUA

4 % Eiological pest Control | e Uag Fgid

Question Number : 68 Question Id : 3354729098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Social Audit Comumittes should be constituted at the level of . | FTHTRE o TErg qiyid @7 maT Ly

gAERER

Options:

1. # Zilla Panchayath | FaT =T

2. # Janpad Panchayath | 9992 w==a
= ¥ Gram Panchayath | W0 T=maa

4 ¥ Grama | TW

Question Number : 69 Question Id : 3354729099 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who is the secretary of Gram Panchayat? | TTH T & Gicd &1 57

Options:

1. ® sarpanch | To

= ¥ Gramseval | TTAGTOE
2 % BDO | dr2Tar

4 ® CEO | ®igar

Question Number : 70 Question Id : 3354729100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the objective of ISOPAM scheme? | [SOPAM THT &7 94T J54T &7
Options:

1. ¥ Increase production of oilseeds & maize | AT U AT & Fe0TeA F519T

2. % Providing mid dav meals at schools | Senaal § AedTg 9 A= T
= % Providing free health care to rural people | TTHIT & &1 7 o e #aTd Ug He-T

4. % Increase production of poultry | FFT T FeUTG T

Question Number : 71 Question Id : 3354729101 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following crops in Madhva Pradesh is NOT a Khariff crop? | ve wear # it # @ @9 &t
eI G e 51 27

Options:

1. ® Sovabean | 9ETwEH
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2. % Maize | AFT

3. % sunflower | TEAGET

4. ¥ Wheat | T

Question Number : 72 Question Id : 3354729102 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
which one of the following is a record of land cultivation? | TaERET § & 219 Uw Q-3 =7 we g 87

Options:
1. % Jamabandi | SATEZT
2 % Khatauni | S99

3. % Mukhtarnama | &I
4 % Panchnama | T=HHET

Question Number : 73 Question Id : 3354729103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Name the viceroy who is known as Father of local self government in India. | 3% 9100 &7 980 g, Fe awg §
T TTATE T FA=1e HTAT 17T 51

Options:

1. ¥ Lord Dalhousie | #a Sdg

2. % Lord Mountbatten [ #12 ATdeeT
3. % Lord Cornwallis | @18 @i-diee
4+ Lord Ripon | @8 fque

Question Number : 74 Question Id : 3354729104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is known as ‘SAANTHI'? | PR § & T SAANTHI & W & SHT 9ET 27
Options:

1. % Saansad Adarsh Gram Yojana | T9g sl TH Tr==T

2. % Swarna Javanthi Gramin Rozgar Yojana | &0 =< T TR TR =1
= % Pradhan Mantri Gram Sadak Yojana | e J=T 0 9SF =1
4 % Rashtriya Krishi Vikas Yojana | T =1 1 @ armr

Question Number : 75 Question Id : 3354729105 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What 15 GeoMGNEEGAY | GeolGHNEEGA EMT%'?

Options:

1.IO ¥ Geo-tagging of assets created under MGNREGA | A-RIT & SfdTia WA afaui=! @ far-2mm
2. % Wwishing long life to MGNREGA scherme | AT 1 &1 #all 71 9 o] JHFEAIT AT

3. % Numbering done as per geology | 9T & AR 61 T el

4, % Tagging done by Reliance company | AT ST ZW/T & A 2Tt 21

Question Number : 76 Question Id : 3354729106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Who should be the head of Social Audit team of the Panchayat under MNREGS? | A= & S/d7(d =T &
HATHTRR +aT 17 & T T 5T amg e

Options:
1. ¥ & person frorm outside the ward where work is conducted | 78 912 # #72 G2Tiod g7 &, SHF o5t & gamh

2. % Panchayat President | T=TT a12a4
Z. % Senior most person in the village | T &7 Ha I8 =0T
4, % Secretary of the Panchavat | T=Td &7 T

Question Number : 77 Question Id : 3354729107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The first official attermpt to calculate National Income of India in 1949 was made by Mational Income
Cormrmittee that was headed by __________ | ________ & Aiqea H TN T FHT ERT 1949 § UgHT A i €
T AR & TP mfﬁmaﬂﬁmmmw

Options:
1. # Dadabhai Naoroji | SEmETE STl

2. % P.C. Mahalanobis | L& Aga-iled
3. % VKRV Rao | dhdsmedt g
4 # Sardar Vallabhbhai Patel | V2R TeesddqTE 0o

Question Number : 78 Question Id : 3354729108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
As per NS5O, in 2011-12, the share of Agriculture in employment at the national level was approximately

________ percentage | NS5O & R, 2011-12 § VPR &0 0 TATR H F1Y &1 HI T s
Options:
1. ¥ 49
2 % c5g
3. % 39
4 % g9

Question Number : 79 Question Id : 3354729109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The 12th Five-year plan targeted an average annual growth of

Ay T E ______ e T arfeg, AT
Options:
1. % 8
2 %5
2. ¥ 4
4 % 2

% in agriculture. | 12 Taemi T==T HT

Question Number : 80 Question Id : 3354729110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The governrnent of India announced the first ever MNational Agricultural Policy il the wear

ATTH T F Y A ERCILEREAR)

Options:
1. % 1939
= #1991
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2% 2015
4. % 2000
Cormputer Knowledge

Section Id : 335472317
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 335472317
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354729111 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Cne byte isequal to _________ hits. | THFEES _______ TaT & TR ST 8
Options:
1. % 2
2. % 4
3 %EB

4. ¥ 3

Question Number : 82 Question Id : 3354729112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Macros in MS Excel 2007 can be executed from which of the following menu? | TAGH UFd 2007 § Awr @1
TR # 6 o B R i R S AT 87

Options:
1. % Data | 227

2. % Insert | 56
= % Home | §1F
4. ¥ View | =

Question Number : 83 Question Id : 3354729113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A cornputer program that has the ability to copy itself from computer to cormputer and infect the machines is

called 5 | T TR WU FAEH ey & s Tod il Wid (ol 10 s @1 S0 DT T Heh i Fe] w1 JHaT gl g,

Options:
1. % Anti Virus | Tal TR
2 % Macro Virus | B@T gred
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= % Trojan Horse | 2MH §19
4. Worm | TH

Question Number : 84 Question Id : 3354729114 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following file format notepad cannot open? | FEiARET # & o BEd BTHe T AlCle F51 G G@dT 57

Options:

1.9 AV
2. % THT
3. % LOG

4. % DAT

Question Number : 85 Question Id : 3354729115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The default file extension of MS Excel is: | THIE TFAH HT 1212 BI5d T o

Options:

1. % xlr
2 % exe
3. % exl
4. ¥ xls

Question Number : 86 Question Id : 3354729116 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where you will add the new e-mail id in your Gmail account? | 30 S0 ATHT THTET | 72 SHA STEaT Bgl ATHA HE07

Options:

1. * Inbox | SAFT

2. % Outhox | {TITE1FH
= & Contact | 9uE

4 % Sent rrail | U O

Question Number : 87 Question Id : 3354729117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is a wired type of internet connectivity? | FEETET # T B9 T TGS FRR H1 52T

Options:

1. % Cable Internet Access | Hed et THdd
Z % 3GordG | 3G AT4G

3 % WIMAX | STEfT

4 ® Wi-Fi | aB-w1

Question Number : 88 Question Id : 3354729118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is directly addressed by the CPU? | FrAimiEs & & fowt dteh &t ot 37, gry gaitaT e =mar g7

Options:
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1. % Alternative memory | STFet-Ted HANT
2. % Secondary memory | HEELl HATT

= ¥ Main memory | §9 BHT

4. % Auxiliary memory | sfeaterait #AT

Question Number : 89 Question Id : 3354729119 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following option is NOT available in Faste Special dialog bowx in MS Excel 20077 | Q'HEHQEF@H
2007 H, UHE qUad STaaT 91 § FHEAeET § 8 B9 A7 [Swad J0aee 51 5T 7

Options:

1. % a4dd [ U=

2. % Subtract | gaigT
2. ® Divide | ZaEs

4 % Font | BI0T

Question Number : 90 Question Id : 3354729120 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

How carl you apply exactly the same formatting you did to another text in MS Word 20077 | TATH 2007 H &0
TET HTHTR T 3 ST T & ST S T O

Options:

1. % Copy the text and paste in new location. Then type the new text again, | SHEe ® AT F 37 A7 I W 06T
T TP TG AT SPHT T e

> ® qcﬁr:l:upy the text and click on Paste Special tool on new place. | THHT ®T HHT & 3 97 9 0T 6 THI 77 07

3. ¥ Select the text then click on Format Painter and select the new text. | TPee B Geide &t 31T {6 BTHe Jet 1%
Teern ¢ S A SHET T Ao e

4 % Pone of the above | IRIGd # § 1 41

Question Number : 91 Question Id : 3354729121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A web address is also called as: | ST 2T F G AT FETAET &

Options:

1. % UEL
2. % ULR
3. % LRI
4 % LUR

Question Number : 92 Question Id : 3354729122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Exabyte (EE) is equivalent to: | UFAETge (EE) 56F sviet 51aTl &
Options:

1#‘,263
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Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 93 Question Id : 3354729123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A& Web site's front page is called

Options:

1. % Home page | 5T
2. % Main Page | A9 U9
% % Web Page | a9
4. % Any page | TATT

Question Number : 94 Question Id : 3354729124 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ao identifies a location or a selection of text that vou name and identify for future reference. |

T TR AT THAC o Aol a T TgalT= HedT g Faed o710 Wiergr & das & oy 7 3 7 g e 8
Options:

1. ® Page number | UF a7

2. % Header | 3%

3. ¥ Boolkrmark | @A

4. % Footer | §a¢

Question Number : 95 Question Id : 3354729125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& device that is used for making drawings, graphics and for menu selection is known as: | ag TEamgd fwT
U TS, TThgre mﬁmﬁa@%tﬁmﬁ%q%mw% T AT & T AT §

Options:

1. ¥ Kevboard | #-=ig

2. % Trackball | TFaTA

3. % Touch screen | T HoiA

4. % Light Pen | @2 U4

Question Number : 96 Question Id : 3354729126 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
%1%1 of the following is used as a primary storage device? | AT # € S WEAT G 12aT5d & &0 § Ugh

Options:

1. % Magnetic drum | BHE® 20
2. ¥ PROM

2. ® Floppy disk | waATdl Za®

4 % all of the above | IS T
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Question Number : 97 Question Id : 3354729127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Howr to wiew a cell corrment in MS Excel? | THTE TFad § €6 ®He P [ TR S@r AT g7

Options:

1. % Click the edit cormrment corrrmand orl the insert menu | §-6¢ A K Ti&e FHT THIS W (o T

2 % Click the display comment cormmand on the window menu | TH2T 7 W fZa0e wHT e o e Fwer
Z. ¥ Position the mouse pointer over the cell | ATIW UIget &1 & OT & =0

4 % Click the cormmment corrrmand on the view menu | &3 5 W wH wHIS 0T fFew B

Question Number : 98 Question Id : 3354729128 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wirword. exe’ 15 respornsible to start

Options:

1. ¢ MS Word | qAUg a2

2 % M3 Excel | THIE TFEA

3. ® MS PowerPoint | THTE Wlaiqdise
4. % M5 Access | THIE EAE

Question Number : 99 Question Id : 3354729129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The full form of TIFF is: | TIFF @7 ey &7 &

Options:

1.p # Tool Information File Forrmula | 7 SAEH BT5e HTHAT
2. % Tagging Indian File Format [ T 2299 w1Ed ®TH

% % Tagging Image For File | T /9 B B1EA

4. % Tagged Image File Format | 212 539 B15d BIH

Question Number : 100 Question Id : 3354729130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

what is the narne of the drive where the primary operating systerns reside? | 39 S1gd &1 A0 aq 1] R wgad
AT feen gid 27

Options:

1. C Drive | C ZEd
2. % A Drive | A ST5d
% % HDrive | HZET
4. % EDrive | EZET
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